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3. A—AMAT A, H—AEE ] 4
4. AEE: FRAUEFERTRRAL", —RA KRB,
* % * INSTRUTIONS * * *

1. Calculators not allowed.
2. Logarithm table is not to be used.
3. 4 marks will be awarded for each correct answer and 1 mark will be deducted for each wrong answer.
4. (E) *** indicates “none of the above”.
1. 3+47+12° =

A 13 B 15 c 17 D 19 E 21
2. XEFEH A WEXA aAb=d". MA2ABA2)=

An operation A is definedasa Ab=a".Then2 A(3A2)=

A 64 B 128 C 256 D 512 E 1024
3. FH2048x2°M =2, L4 k=

If 2048x2*" =2 then k=

A 2025 B 2024 C 2023 D 2022 E 2021
4. CHa B bREES, Ha*+b*—13=ab. K ab R KMA.

Given that a and b are positive integers such that a* +b* —13=ab , find the largest possible value of ab.

A 4 B 8 C 12 D 13 E F**
5. R192 %352 sy gzt
18 20

Find the value of 19%x 35% , to the nearest integer.

A 720 B 719 C 718 D 717 E 716

6. H %V RE nbeis RV T M

“HHE3,6,7, 8, n 6y PR T AP R

How many distinct n satisfy the following condition?

s

“The median of the data 3, 6, 7, 8, n is equal to its mean’

A 0 B 1 C 2 D 3 E 4



10.

11.

12.

K 2014 ! + ! + ! oot ! Z A,
19%x20 20x21 21x22 37%x38

Find the value of 2014 ! + ! + ! +-t ! .
19x20 20x21 21x22 37%x38

A 38 B 53 C 54 D 63 E 68

1 1

Ka>b>1, K +
1-log . (a) 1-log .(b)

ZAH.

1 1

Let a>b>1. Find the value of + .
1- logazh (a) 1- logah2 (b)

A 1 B 2 C 3 D 4 E 5

B4 E s m A 6 NEEH, R4 m’ 6 E B R MNCT 62
(Bl EAH 4 A 3AMERK, 234 1, 284, AL ERAAERI, H50H 1, 2, 4, § & 16)
It is known that the positive integer m has 6 positive factors, then the number of positive factors of m’* can possibly be

(Example: the positive integer 4 has 3 positive factors, namely 1, 2 and 4. Then the number 4*has 5 positive factors,

namely 1, 2, 4, 8 and 16)
I 11 I 12 I 15
A I B I C I D I, I E I, I, I

= u&v%‘x—ﬁ‘:‘2x+\/§‘ R, K ouy 2.

If u and v are the roots of ‘x—\/g‘ =‘2x+\/§

, find the value of uv.

A 3 B C% D —— E —

3
4
T x By £ EES, HS5x+17y<2014. K x 693 KT 4414

Given that x and y are positive integers such that 5x+17y <2014, find the largest possible value of x.

A 402 B 401 C 400 D 399 E 398

Efmu Koy A FEk, A

uz\/l V- +AV 1+13—v,
1-v
BT
Given that # and v are real numbers, and
u:\/1 VoAV 1+13—v,
1-v
find the value of u.
A 14 B 13 C 12 D 11 E 10



13.

14.

15.

16.

17.

18.

19.

E4r(a+b):ic=1:2Ra:(b+c)=1:4, 2l a:c=

Giventhat (a+b):c=1:2and a:(b+c)=1:4,then a:c=

A 1:3 B 2:5 C 2:7 D 3:10

K f)=x"-Tx+11. & f(a)=a+2% f(b)=b+2, Ka+bZAi.

E 4:11

Let f(x)=x>—7x+11.Giventhat f(a)=a+2 and f(b)=b+2,find the value of a+b.

A 9 B 8 C 7 D 6
. " 1 1 1
CHra B bAHEFEL, Hb>ak —+—=—.
a b 10
(#): Ha=11Fb=110, MzLtslot L _1,
a b 11 110 10
R a R KT Aeh.
Given that a and b are positive integers such that b>a and l-i—%:%.
a
1 1 1 1 1
(Example: when a=11 and b=110,then —+—=—+—=—)

a b 11 110 10
Find the largest possible value of a.

A 12 B 14 C 15 D 18

Edkn x By ?@Jf_géé*i'ﬂiﬁ‘l+i:1 . Rx+ysgm i,
Xy

E 5

. . 1 4 . .
Given that x and y are positive real numbers such that —+—=1. Find the minimum value of x+y.

XYy

A 8 B 9 C 10 D 11
A%V ANEEH xR T A
“yREL, H2x+8xy=2014"

How many integers x satisfy the following condition?

“y is an integerand 2x+8xy =2014"

A 4 B 6 C 8 D 10
: o 0 +45 :
e S e S
n+
n’ +45
Howmany positive integer n are there such that 3 is also a positive integer?
n+
A 4 B 5 C 6 D 7

Ephqhliik, Hp<q. Cip*+q =6266, K g fh.

Let p and ¢ be prime numbers and p < g . Given that p° +¢” = 6266, find the value of g.

A 79 B 71 C ol D 59

E 12



20.

21.

22.

23.

24.

25.

26.

E4n 4 453 abbb = /N7 AT 5, BPabbb=k>, k 2 EL., £ b 214,

Given that the 4-digit number abbb is a perfect square, namely abbb=k> for some positive integer k. Find the

value of b.

A0 B 1 C 4 D 5 E 6

Fx=243, K -2x —Tx+2014 244,
If x=2++/3, find the value of x* —2x*—7x+2014.

A 2011 B 2012 C 2013 D 2014 E 2015

En 4 fidlabed & 4 ¥915%. Ra+b+c+d HRRTHRAL.
Given that the four digit integer abcd is a multiple of 4. Find the largest possible value of a+b+c+d .

A 32 B 33 C 34 D 35 E 36

K 201274 2014 PR ey 442,
Find the remainder when 2012’ is divided by 2014.

A 2012 B 2011 C 1992 D 1982 E 1906

B3 EZE, WAS A CRAZNA) F—RF MR35

What is the first time, to the nearest minutes, after 3 o'clock that the clock hand and the minute hand of the clock make

an angle of 35°7?

A 3:13 B 3:12 C 3:11 D 3:10 E 3:11

FIA 02 9+ 520 R AN FAZ M BN AT %

=%ﬂiﬁﬁ%$ﬂz#ﬁiﬁﬁﬁ)ﬂ . (#): M = 48651, N =97302 )
KM +N 895N +T fe1A.
The 10digits 0 to 9are used to form two 5-digit numbers M and N such that% = % and no digit is repeatedly used.

(Example: M =48651, N =97302)
Find the smallest possible value of M + N .

A 30702 B 40425 C 40455 D 40644 E 44595

2 O RWAK ABCD A#g— %, CHEOANTMEMNIERA 2, 3, 4 A8 (KAFLX—). KR ABCD @A) R KT
AETE.
The point O is a point inside a quadrilateral ABCD such that its distances from the four vertices are 2, 3, 4 and 8 in

some order. Find the largest possible value for the area of ABCD?

A 32 B 33 C 34 D 35 E 36



27.

28.

29.

30.

31.

B1ykAZIAN=AH?

How many triangles are there in the following Figure 1?
A 15 B 14 C 13

D 12 E 11

Wl 2, CimKFH ABCD 69 @AH 130, % E B F fE5T A 4 BD L1847
DE:EF:FB=1:2:2
K= AR CEF @A,

As shown in Figure 2, it is known that the area of rectangle ABCD is 130. The
points E and F are on the diagonal BD such that
DE:EF:FB=1:2:2
Find the area of triangle CEF.
A 26 B 27 C 28

D 29 E 30

W@ 3, BCE 24 H%, 2/ABD=3/EBD % 2/ACD=3/ECD . C4%»
/BAC =80°, X /BDC.

As shown in Figure 3, BCE is a straight line, 2ZABD =3/EBD and
2/ACD =3ZECD . Given that ZBAC =80°, find £ZBDC.

A 30° B 32° C 35°

D 38° E 42°

B 4, B ARARERY 6. B—AR4GF < EFLEHGTRE, LK
FA 0 B @A,

As shown in Figure 4, the area of each circle is 6. The centers of these five

circles are the vertices of the star. Find the total area of shaded regions.

A 29 B 28 C 27
D 26 E 25

4B 5, AOB Z¥1% 14 4w —@; PORO RK7HH., Sr=fAH
12 > > ) 3 2 22

POR & Bl KA 35, KIARHE K. (Ex;r=7 )

As shown in Figure 5, AOB is a quarter circle with radius 14 and PQRO is a

rectangle. Given that the perimeter of triangle POR is 35, find the perimeter of

the shaded region. (Take 7= % )

A 43 B 4 C 45
D 46 E 47

A1
Figure 1

B2
Figure 2

A 3
Figure 3

Figure 4
A
R Q
0 P B
B s
Figure 5



32.

33.

34.

35.

40 B6, EERFHAEHKABRBCLA#4iF
AE:EB=2:1% BF:FC=2:1.
AF B DE/#RXT G. K AG:GF .

As shown in Figure 6, the points E and F are on the line AB and BC
respectively such that

AE:EB=2:1 and BF:FC=2:1.

AF and DE intersect at G. Find AG :GF .

A 3:4 B 4:5 C 6:7

D 7:8 E 7:9

4ol 7, AB=7, BC=12% AC=11. @45 D & BC L&) 5 121%
ZADC =90°, K AD K.

As shown in Figure 7, AB=7, BC=12 and AC=11. Given that the
point D is on BC such that ZADC =90°, find the length of AD.

77 9

s B —— Cc 35

12 V2 V5
D 210 E 65

4B 8, AM =BN =AB% £C=41°. K LAPB.
As shown in Figure 8, AM = BN = AB,and ZC =41°.Find ZAPB.

A 98° B 94° C 90°

D 86° E 82°

4wk 9, ABRYHeAZ. & CADAEREL, HLCBD=/DBA 7%
AC 5 BDMX T E, &% AE=36 % EC=28, K DE ¢9KJ&.

As shown in Figure 9, AB is the diameter of the semicircle. The points C and D
are on the circle and ZCBD = ZDBA . The chords AC and BD intersect at E.
Given that AE =36 and EC =28. Find the length of DE.

A 28 B 22 C 17

D 12 E 10

B 6
Figure 6

12

&7
Figure 7

B 8
Figure 8

DC

E

B9
Figure 9
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